ORIGINAL

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

6170	195 22 2/0 00 00
Operator: License #Globe Operating, Inc.	API No. 15 - 185-23,340-00-00 Stafford 130E & 140S
Address: P.O.Box 12	County: Starrord
City/State/Zip: Great Bend, KS 67530	1180 Sec. 30 Twp: 1 S. R.12 East West
Purchaser: NCRA	1180 teet from (S)/ N (circle one) Line of Section
Operator Contact Person: Richard Stalcup	feet from E / ( (circle one) Line of Section
Phone: (620) 792 7607	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Southwind Drilling Inc.	(circle one) NE SE NW SW Lease Name: Sittner Well #: 9
License: 33350	Field Name: Sand' Hill
Wellsite Geologist: Eldon Schierling	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 1803 Kelly Bushing: 1812
X New Well Re-Entry Workover	Total Depth: Plug Back Total Depth: S650
	Amount of Surface Pipe Set and Cemented at 349 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	
Operator:	If Alternate II completion, cement circulated from
Well Name:	feet depth to
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan V
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume 960 bbls
Commingled Docket No	Dewatering method used Haul Off
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: John J. Darah
	Lease Name: SWD # 2 License No.: 5088
7-5-06 7-12-06 7-20-0 Completion Date or	Quarter NE Sec. 15 Twp. 21 S. R. 14 Fast X West
Recompletion Date Recompletion Date	Quarter NE Sec. 15 Twp. 21 S. R. 14 East West County: Docket No.: 17,893
Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells All requirements of the statutes, rules and regulations promulgated to regul	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-5 and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
Signature: Richard Stalcup	KCC Office Use ONLY
Title: Prod. Superintendent Date: 7-31-06  Subscribed and sworn to before me this 31stday of July	Letter of Confidentiality Received
$\frac{20-06}{}$ . $\omega$ 21 -	Wireline Log Received RECEIVED
Notary Public: 4-2-07  Date Commission Expires: 4-2-07	—— UIC Distribution AUG 1 0 2005
Date Commission Expires.	KCC WICHITA

Operator Name: G1			Lease	Name:	Sittner		Well #:	9
Sec36 Twp	21 s. R. 12	☐ East ☐ West	County	_	afford		<del>-</del>	
temperature, fluid reco	overy, and flow rates	and base of formations g and shut-in pressures s if gas to surface test, inal geological well site	s, whether sr along with fi	IIII-IN NIGO	CHIPA PARABAA	للبيط لمبيما متفحفها	I & _ & I .	
Drill Stem Tests Taken (Attach Additional S		X Yes No		₩Lo	g Format	tion (Top), Depth	and Datum	Sample
Samples Sent to Geol	ogical Survey	☐ Yes 🗵 No		Name			Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		Yes No Yes No						
List All E. Logs Run:								
-	Attache	d			Attac	ched		
		CASING Report all strings set-	RECORD	X New	Used	tion etc.	<del> </del>	
Purpose of String	Size Hole Drilled	Size Casing Set (In Q.D.)	Weig Lbs. /	ht	Setting Depth	Type of Cement	# Sacks	Type and Percent
Surface	12 1/4	8 5/8	23		349	A	32 <b>5</b>	Common 3%CC 2% ge1
Production	8 5/8	5 1/2	14	3	3664	AA2	150	Common 60/40 poz
		ADDITIONAL	OFMENTIN			<u> </u>		
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks (		EZE RECORD		Percent Additives	3
Shots Per Foot	PERFORATIO Specify Fo	N RECORD - Bridge Plug potage of Each Interval Per	gs Set/Type rforated			cture, Shot, Cemen		rd Depth
4	3573-3577							
TUBING RECORD	Size 2 7/8	Set At 3600	Packer At	L	iner Run	Yes 🔀 No		
Pate of First, Resumerd Pr 7-20-06	roduction, SWD or Enh	nr. Producing Meth		Flowing	XPumpin	g Gas Lif	t Othe	r (Explain)
stimated Production Per 24 Hours	0il Bb	ols. Gas	Mcf	Water 10	Bb	ıls. G	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF COI	MPLETION		P	roduction Interv	ai		·
Vented Sold [ (If vented, Submi	Used on Lease it ACO-18.)	Open Hole Other (Specif	X Perf.	Dual	ly Comp.	Commingled	·	



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

#### SALES & SERVICE OFFICE:

10244 NE Hiway 61 PO. Box 8613 Pratt. KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

#### SALES & SERVICE OFFICE:

1700 S. Country Estates Rd PO Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

### Invoice

Bill to:	3155600	Invoice	Invoice Date	Order	Station		
GLOBE OPERATING P O BOX 12 GREAT BEND, KS 67530		607058	7/12/06	13596	Pratt		
		Service Description					
	0		Cem	ent	JACO me		
CHERT BEITE, NO 0733			Lease	Well	Well Type		
			Sittner	9	New Well		
			AFE	PO	Terms		
					Net 30		
CustomerRep			Trea	iter			
R. Trisner			K. Go	rdley			

<u>ID.</u>	<u>Description</u>	<u> UOM</u>	<b>Quantity</b>	<u>Unit Price</u>	<u>Price</u>
10205	AA2 (COMMON)	SK	125	\$15.90	\$1.987.50 (T)
D203	60/40 POZ (COMMON)	SK	25	\$10.30	\$257.50 (T)
C194	CELLFLAKE	LB	32	\$3.70	\$118.40 (T)
C195	FLA-322	LB	95	\$7.50	\$712.50 (T)
C221	SALT (Fine)	GAL	989	\$0.25	\$247.25 (T)
C243	DEFOAMER	LB	12	\$3.45	\$41.40 (T)
C244	CEMENT FRICTION REDUCER	LB	36	\$6.00	\$216.00 (T)
C312	GAS BLOCK	LB	89	\$5.15	\$458.35 (T)
C321	GILSONITE	LB	625.	\$0.67	\$418.75 (T)
C304	SUPER FLUSH II	GAL	500	\$1.53	\$765.00 (T)
F101	TURBOLIZER, 5 1/2"	EA	5	\$74.20	\$371.00 (T)
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"	EA	1	\$250.00	\$250.00 (T)
F211	AUTO FILL FLOAT SHOE, 5 1/2"	EA	1	\$320.00	\$320.00 (T)
E100	HEAVY VEHICLE MILEAGE - I WAY	MI	80	\$5.00	\$400.00
E101	CAR. PICKUP OR VAN MILEAGE - I WAY	М	40	\$3.00	\$120.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	280	\$1.60	\$448.00
15107	CEMENT SERVICE CHARGE	SK	150	\$1.50	\$225.00
R208	CASING CEMENT PUMPER, 3501-4000' IST 4 HRS ON LOC	EA	1	\$1,680.00	\$1.680.00
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
R702	CASING SWIVEL RENTAL	EA	1	\$150.00	\$150.00
S100	FUEL SURCHARGE  RECEIVED  AUG 1 0 2006		1	\$96.73	\$96.73
	AUG 1 0 2006			Sub Total:	\$9,533.38
	KCC WICHITA			Discount:	\$1.698.60

MOO AAIO

Discount Sub Total: \$7,834.78

Stafford County & State Tax Rate: 6.30% Taxes: \$319.12

> (T) Taxable Item \$8,153.90 Total:

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 103291

**11** 31. 31.

The Mark Committee

Invoice Date: 07/07/06

sold Globe Operating, Inc. 'o: P. O. Box 12

Great Bend, KS

67530

P.O. Number..: Sittven #9
P.O. Date...: 07/07/06

# 9

Due Date.: 08/06/06 Terms...: Net 30

em I.D./Desc.	Qty. Used	Unit	Price	Net	TX
mmon	325.00	SKS	10.6500	3461.25	T
1	6.00	SKS	16.6500	99.90	Ţ
loride	12.00	SKS	46.6000	559.20	T
gar	100.00	LBS	1.0000	100.00	T
ndling	343,00	SKS	1.9000	651.70	Ē
elage	25.00	MILE	27.4400	686.00	Ē
343 sks @>08 per	sk per mi	4 4		000.00	
rface	1.00	JOB	815.0000	815.00	E
tra Footage	49.00	PER	0.6500	31.85	E
leage pmp trk	25.00	MILE	5.0000	125.00	E
ad Rental	1.00	PER	100.0000	100.00	Ē
P	1.00	EACH	60.0000	60.00	T

ALCEM

1 Prices Are Net, Payable 30 Days Following te of Invoice. 1 1/2% Charged Thereafter. Account CURRENT take Discount of \$ 468.99 Payments: LY if paid within 30 days from Invoice Date Total...:

Subtotal: Tax...:

6689.90 269.66 0.00 6959.56 668.99

6290.57

106

RECEIVED

King a grant

# ALLIED CEMENTING CO., INC. 16880

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
	Medicine loke
DATE 15 I. D6 SEC. TWP. RANGE	CALLED OUT ON LOCATION JOB START TOP FINISH
LEASE S. HOLK WELL# 9 LOCATION	
OLD OR NEW (Circle one)	18/4 K/9-8E, 1/KN, Einto Stafford KS
CONTRACTOR South wind #2	
TIPE OF JOB SURFALE	OWNER (2/obe OpeRating
HOLE SIZE /2/4 T.D. 350 CASING SIZE B S DEPTH 3/1/2	CEMENT
TUBING SIZE DEPTH 5 49	AMOUNT ORDERED 30 5 "A" 20/ 100/
DRILL PIPE DEPTH	And 100 45 Eugare
TOOL	
PRES. MAX 250 MINIMUM	COMMON_325 A @ 1015 3111
CEMENT LEFT IN CSG. 15	POZMIY 70.65 346/.
PERFS.	GEL WILL COLOR
DISPLACEMENT 21/4 B6KFRGSh HG	CHLORIDE 12 @ 16.65 99.90  ASC 946.60 559.
EQUIPMENT	2_ ASC
Division	0 1.00 100.00
PUMPTRUCK CEMENTER D. Felio # 352 HELPER Ph (. (.)	
BULK TRUCK  HELPER M. Coley	
$\frac{#36}{}$ DRIVER C $\frac{1}{2}$	@
" " " " " " " " " " " " " " " " " " "	
# DRIVER	
	HANDLING 3U3
REMARKS:	MILEAUE 25 X343 X. 08 181 12
Dipeon Bitting Break GIRC, Purplace flu	SK. TOTAL 5558.05
A Stop Po	4 1
which op on Plan Slow of the I	SERVICE SERVICE
Hin Di at 21/4 136/5 total Fresh	DEPTH OF JOB 349'
Concert Dishotion, Release line P	PUMP TRUCK CHARGE 0-300' 8/5,00
10 6 6/RC,	EXTRA FOOTAGE 49' @ .65 31.85
	head Reital @ 100.00 125.00
CHARGE TO: Globe Operating	@
STREET	
CITYSTATE RECEIVED	TOTAL 1071.85
RECEIVED	// / DITIC & DI CO
AUG 1 0,2003	8 % " PLUG & FLOAT EQUIPMENT
KCC WICHITA	MANIFOLD @
To Allied Cementing Co. Inc.	1-TWP @60.00 60.00
You are hereby requested to rent company.	
diff nemer to assist and	@
The state of the down to do work as is listed. The si	ANY APPLICABLE TAX
and supervision of and supervision of annual	WILL BE CHARCES
CONDITIONS" listed on the reverse side.	OFON INVOICING
issed on the leverse side.	IAX
	TOTAL CHARGE
	DISCOUNT IF PAID IN 20 P IN
IGNATURE (5)	DISCOUNT IF PAID IN 30 DAYS
IGNATURE Surgere Turner	IF PAID IN 30 DAYS  LEWIS TOLER